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What is NOT mentioned in the passage as |
a contributing factor in an attack by killer |
bees?

16. It is stated in the passage that killer bees ‘18.

(A) are more deadly than African bees
(B) are less aggressive than African bees
(C) never attack animals

(D) always attack African bees

17. The pronoun “They” in line 13 refers to

(A) killer bees 19
(B) humians and animals

(C) (fatalities

(D) experts

396 COMPLETE TEST ONE

. Where in the passage does the author

(A) Panic by the victim |
(B) An odorous chemical
(C) Disturbance of the bees '
(D) Inclement weather

describe the size of the groups in which
killer bees move?

(A) Lines 2-4
(B) Lines 5-7
(C) Lines 11-12 :
(D) Lines 19-20 |

GO ON TO THE NEXT PAGE




